Algebra 2








Name: ___________________
Unit 12, Day 0A







Date: ___________ Period: __
Systems of Equations in Three Variables
Today we are going to solve systems of equations in 3 variables.  Any equation that can be written in the form ___________________ (where a, b, c, and d are constants and a, b, c are not all zero) is a linear equation in 3 variables.

The solution to such an equation is an ___________________________.  The graph of a linear equation in 3 variables is a __________.   

Given a systems of 3 linear equations in 3 variables, there can be one solution, infinitely many solutions, or no solution.   
	Type: ______________________
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( planes intersect in exactly one point


	Type: _____________________
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( planes intersect in the same plane
	Type: _____________________
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Solving a system of equations in 3 variables is similar to solving a system of equations in 2 variables using substitution and/or elimination methods.

	Example #1:  Solve the system of equations.
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	Example #2:  Solve the system of equations.
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Summary:

1.  Simplify and put all three equations in the form  ___________________ if needed.

2.  Choose to ______________ any one of the _____________ from any ______________________.

3.  Eliminate the ________ variable chosen in step 2 from any __________________________, creating a system of two equations and 2 unknowns.

4.  Solve the remaining ______________________________ (with ___ unknowns) found in step 2 and 3.

5.  Solve for the _____________________. Write the answer as an ____________________________.

6.  Check.

Practice:

	1.  Solve each system of equations.  

	a)  
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	b)  
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	c)  
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	d)  
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	2.  Graph each function.

	a)  
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b)  
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	c)  
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	3.  Perform each expression without a calculator.

	a)  
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	4.  Expand and simplify the following binomials.

	a)  
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	5.  How many different arrangements can be made with the letters in the following words?  

	a) BEATLES

	b)  CREEDENCE 
	c)  LEDZEPPELIN

	6. A coin is tossed 6 times.  What is the probability of getting:

	a)  exactly 4 heads?

	b)  at most 3 heads?
	c)  no tails?

	7.  Find the specified term of each binomial expansion.

	a)  Eighth term of 
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	8.  Factor completely across the rationals.

	a)  
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	b)  
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	c)  
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